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LAW
PAPER - 1I

This paper contains hundred (100) objective type questions of two (2) marks each. All
questions are compulsory.

Which of the following is not included in the definition of law under Article 13 of the
Constitution of India ?

(1) Legislation (2) Customs
(3) Usage having no force of law (4) Ordinance
2. Which of the following Article of the Constitution uses the term “martial law” ?
(1) Article 33 (2) Article 34 (3) Article 352 (4) Article 353
3. Read Assertion (A) and Reason (R) and give correct answer by using the code given
below :

Assertion (A) : A person shall be disqualified for being chosen as, and for being, a member
of either House of Parliament if he holds any office of profit under the
Government.

Reason (R) : If “pecuniary gain’ is receivable in connection with the office. Then it shall
not become an office of profit, irrespective of whether such gains are actually
promised or not.

Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

(3)  (A) is correct and (R) is incorrect.

(4) (A) is incorrect but (R) is correct.

4.  Which of the following statement/statements is/are incorrect ? Give answer by using the
code given below :

(a) The election of the President shall be held in accordance with the system of proportional

representation by means of single non-transferable vote.

(b) The President may resign, by writing under his hand addressed to the Chief Justice of

India.

(c) No resolution to remove the Vice-President of India from his office, shall be moved

unless at least thirty days notice has been given to him.

(d) Vice-President shall, not with standing the expiration of his term, continue to hold

office until his successor enters upon his office.

Code :

(1) (a), (b), (c) and (d) are incorrect

(2) (@), (b) and (c) are incorrect

(3) Only (a and (b) are incorrect

4) Only ) is incorrect
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1. frafafed § § ®F-91 YR & Gfaam & T8 13 % STt & o gy § e & ¢ 2
(1) IECIRE] ) 'gqri'
() WA FTH IO = (4) AR

2. wfgum = frefafad § § SF-91 o =¢ ARl o’ 368 T TN T § 2
(1) SIT=% 33 (2) AT=% 34 (3) A=< 352 (4) A=< 353

3. 3feRed (A) 3R @k (R) 7€ a1 e T 7T e 1 TN o H&l SW S
USRI (A) : Tk Al IS TIHR o e T Tl IS RO AT €l 98 TS o fohel off e
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(2) (A) 3R (R) S 92 € g (R), (A) =t T == 76 2 |

(3) (A)E’@%Sﬁ'{ ) e 1

(4) (A)W%ﬁ%@(n)v@%l

4. Trafafea wua/®eE 8 § SH-91/3 7Tad 8/ 7 7= ST T e &1 @i s Sw S
(a) gufa o1 fat=m s Ffafafae T5fd o STIER Teha ShAIE Hd §RI SR |
(b) TUfd YRA o Y& =TT Sl Halfed 379 T & R NI < Hohell T |
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(d) 39 UgUfd STqH Hrdehrel o FHG B T ot 370 ITAIDRT o I8 TR hid deh A I8 T
EElkel

< :

(1) (@), (b), () ¥R (d) Terd ¥

2 (@), (b) 3 (c) Terd &1

(3) FT (a) 3R (b) TTerd ¥

(4) FIA (a) T ¥
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5.  Match List-I (name of the case) with List-II (related subject) and give correct answer by
using the code below :

List-I List-II
(a) K.M. Nanawati Vs. State of Bombay (i)  Right to life
) Ram Prasad Vs. State of U.P. (i) Power to pardon
(c) Lily Thomas Vs. Union of India (
(d) Dr. P. Naller Thampy Terah v. Union of India (

iii) Fundamental Duties
iv) Disqualification of members

Code :

@@ () (o (d
1 @ @) @Gv) (@)
2 @O @@ @) (@)
@) @) @v) @ ()
(4) (@v) @ @) ()

6.  Which of the following case is not related to “Theory of basic structure” under Article 368 of
the Constitution ?
(1) Minerva Mills Vs. Union of India
(2) Waman Rao Vs. Union of India
(3) L. Chandra Kumar Vs. Union of India
(4) T.XK Rangarajan Vs. Government of Tamil Nadu

7. Which of the following is incorrect in relation to the declaration of financial emergency by
the President under Article 360 of the constitution ?

(1) Itshall cease to operate at the expiration of one month unless approved by both Houses
of Parliament.

(2) Salary and allowances of persons serving in connection with affairs of state may be
reduced.

(3) It may be revoked or varied by a subsequent proclamation by President.
(4) Salary and allowances of the Judges of Supreme Court and High Courts may be reduced.

8.  Which of the following statement/statements is/are correct ? Give correct answer by using
the code given below :

(@) An ordinary Bill can only originate in council of states

(b) A Bill pending in House of people shall not lapse by reason of the prorogation of the
House

(c) A Bill pending in the council of state which has not been passed by the House of people
shall not lapse on a dissolution of the House of the people

(d) A Bill pending in the House of people shall not lapse by reason of the dissolution of the

House.
Code :
(1) (a) and (b) are correct (2) (b) and (c) are correct
(3) (a) and (d) are correct (4) (b) and (d) are correct
possns [N ‘ Fapert
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@ () (9 (d
1) @) @) @) ()
2 @ @) (@) (i)
3) (@) @Gv) @) ()
@ (@) @ @) ()
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9.  In which of the following case the Parliament has no power to legislate on the state list ?

(1) Consent of two states

(2) Implementing international agreements

(3) Emergency is in operation

(4) In the Public interest if so declared by council of states

10. Match List-I (name of case) with List-II (related subject) and give correct answer by using
the code below :
List-I List-II

(a) Union of India Vs. Sankalchand Seth (i) Power to do complete justice

(b) Leila David Vs. State of Maharashtra (ii) Foreign Precedent

(c) B.S.ES. Ltd. Vs. Fenner India Ltd. (iii) Power to punish for contempt

(d) Darsan Gupta Vs. Radhika Gupta (iv) Appointment/Transfer of Judges

Code :

@ ®) © (@

1) G @) @ 6

@ 6 @ @) @)

@) @ O Gv) ()

@) @ @) 0O @

11. Which of the following case is not related to the Parliamentary previleges ?

(1) M.S.M. Sharma Vs. Sri Krishna Sinha

(2) State of Karnataka Vs. Union of India

(8) Jatish Chandra Ghose Vs. Harisadhan Mukherjee

(4) State of Tamil Nadu Vs. K. Shyam Sunder

12.  Which of the following statement/statements is/are correct ? Answer by using code given
below :

(a) Itshall be the duty of every citizen to respect the country and abide by the constitution.

(b)  All minorities, whether based on religion or language, shall have the right to establish
and administer educational institutions of their choice.

(c) The state shall in particular, take steps for preserving and improving the breeds, and
prohibiting the slaughter of cows and calves and other milch and draught cattle.

(d) No law here after enacted by the legislature of Jammu and Kashmir shall be void on
the ground that it is inconsistent with any rights conferred on other citizens of India by
any provision of part - III of the Constitution.

Code :

(1) Only (a) and (b) are correct

(2) Only (c) and (d) are correct

(3) ( ), (b) and (c) are correct

(4) (@), (b), (c) and (d) are correct
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9. Frafafea § @ frm Ame § dog 1 TF g & day | faum s9m f wfad & €2
(1) < TsHl & TAtd
(2) ST FHA! o fsharaaT |
(3) SUREHIA & AT W T
(4) SHfed § afe To T5F 991 gRY =fya fohanm w2
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& I S
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GV GRIECE I RUPEI RIS (iv) = okt e /T
<

(d)
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(1V
(i
i) (@v) @) @)

11. Tefafed 8 | wF-91 amen dod fagrmfysn § deifyd 78 2
(1) TA.TH.TH. H o9H 4ipo fg=r  (2)  hAiesh T6F oM 9Rd HY
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— — — N
Na 22
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(2
3 1ii
4 i
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YU T q1 37 94 ol Ffdfg & fIw Hew 33|

(d) - IR FHEHR faem 991 g1 $9 I STufafid i off T 39 STYR T I 80 R
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13.  Which one of the following Jurists distinguished between ‘expositorial” jurisprudence (What
the law is) and ‘Censorial” jurisprudence (What the law ought to be) ?
(1) John Austin (2) Hans Kelsen
(38) Jeremy Benthem (4) H.L.A. Hart
14. ‘Now, natural law is not considered as absolute but as relative. It is natural law with variable
contents.” This observation specifically relates to :
(1) Dabin (2) Stammler (3) Finnis (4) Acquinas
15. According to Professor Hart the meaning of the term ‘Positivism” includes :
(a) Laws are commands.
(b) The analysis of legal concepts is distinct from sociological and historical inquiries.
(c) Moral judgments cannot be established or defended by rational argument, evidence or
proof.
(d) The law as it is actually laid down, has to be kept separate from the law that ought to
be.
Code
(1) Only (a) and (c) are correct
(2) Only (a), (b) and (d) are correct
(3) Only (a), (c) and (d) are correct
(4) (@), (b), (c) and (d) all are correct
16. Match List-I with List-II and give the correct answer by using the code given below :
List - I List-1I
(Theory) (Jurist)
(a) Theory of social solidarity (i)  Ehrlich
(b) Theory of categorical Imperative (i) Duguit
() Imperative Theory of Law (iii) John Austin
(d) Theory of Living Law (iv) Emanual Kant
Code
@ () ©
O @ 6 @) (@
@ @ @) 6 G
@) @ G @) 0
@ O G @) G
J-05818 |“ 8 Paper-II




13. frAfafaa fafuemed 4 § @R wwafseiEa’ fafreres (5o ©) @R S’ fafreres
(STE1 T 1 BT =1fen) & o= faug o g 2
(1) =7 A (2) T heed
(3) S SFem (4) TATAT TR
14. ‘379, Uhfaes fafy 1 srifaes & sifug wmiferes wrm sman €1 =g aftafda siqesq & e wefas
fafa g1 == feuoht favey @ fr=fafea 8 9 feed defia 82
1) =ifed 2) TWHE 3) frfE (4) Tl
15. WHE TR & TIER ‘goerEre’ & o1 § et €
(a) fafe gaRw €1
(b) faftes stauRomsH 1 foveroo gHSRIET 3R Uderfas Sl @ fis )
(c) Hfaer fofa qehomaess efiell, Treal steran WO gRT Tenfad =1 s=md =&t fhT < Fehdt 21
(d) fafy fom w9 & araa # T 38 fafy S S’ =few & o1em @ S =1fed |
<<
(1) FHaA (a) 3R () T 1
(2) Had (a), (b) 3R (d) T ¥ |
(3) FA (a), () 3R (d) W& T
4)  (a), (b), (c) 3R (d) T T T
16. geit-1 1 Fei-11 & Aferd s 3R = I 7T %2 1 T & S| -
geit-1 qeit-11
(fagra) ( fafrerm )
(a) =ARI 31T AR HifcSRel (i sefe=
(b) & SAF HNRwaA PRl (i) g3fe
() TRfea &R fw ot (i) < ST
(d) & sifw fafam o (iv) SHAUA H=e
< :
@@ (b) (o) (d)
1) Gv) @ @) ()
) @) (@v) (@) (i)
(3) @) (v) (i) ()
4 @ @) (v) (i)
posss TN )




17. Match List-I with List-II and give the correct answer by using the code given below :
List - I List-II
(Book) (Author)
(a) The Growth of the Law (i) Gray
(b) Foundations of Jurisprudence (i) R. Dworkin
(c) The Nature and Sources of Law (i) Cardozo
(d) Taking Rights Seriously (iv) Jerome Hall
Code :
@ () © @
O O 6@ @ W)
@ G @) 0O @
@) @) G @ @)
@) @) O @ @)
18. Which one of the following are the two main theories of legal right ?
(1) Interest Theory and Fiction Theory
(2) Realist Theory and Will Theory
(3) Bracket Theory and Interest Theory
(4) Interest Theory and Will Theory
19. Which of the following is not a theory relating to corporate personality ?
(1) Fiction Theory (2) Realistic Theory
(3) Purpose Theory (4) Functional Theory
20. Match List-I with List-II and give the Jural correlatives by using the code given below :
List - I List-II
(a) Claim (i) No claim
(b) Liberty (i) Disability
(c) Power (iii) Duty
(d) Immunity (iv) Liability
Code :
@ () © @
O @ G 6 W)
@ G 6 @) @
(3) (@) (ﬁi) @ @
4 0 (i) (iv)
Foses i 1 Papert




17. G-I % Gei-11 & 1 gafad w¢ R A= fu 70 e 1 700 & 9@ S| <
g1 qer-11
(g ) (@ )
(a) T U S® T Al G o
(b) R Ah JEH (i) SR, genferd
(c) T 7R e |y 1w o (iif) RIS
(d) < e HftEdet (iv) S @A
<<
@@ () (o (d
1 @ @) @) (i)
2) (@) @Gv) @) ()
®) (@) @@ @ @)
@) (@v) @) @) (i)
18. fr=fafed # @ wiF-91 ST 1fusR & < g fagra €2
(1) fea fagra 3R wfeud fagr
2) Fendersl fag iR sfead fagm
3) s fag iR fea fagr
4) fea fagra IR sfe=a fagma
19. frefafed # @ wF-91 wuke sfde 3 Hefud fagr @& 82
(1) hfcda fagra (2) Fendard fagr
(3) wasH fagr (4) wHEHS Hg
20. GE-1 IR Gei-11 1 gafaa s iR Feafafed se o 3@ w fafus sedeta saed
Tqeit-1 Tqeit-11
(a) (i) <
(b) T (i) frfEa
(c) wfer (iti) HdA
(d) SR (iv) ST
e :
@@ () (o (d
1) (@) @) @) ()
2) @) @@ Gv) (@)
(3) (iv) (i) (ii) (i)
4) @) (i)
rosss [ ] HII\I\I g
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21. ‘X, aservant, finds a bag at the basement of the shop. He hands it over to “Y’, the owner of
the shop, who asks him to place it in the almirah. Now, the bag is in possession of :

(1) ‘X, because he was the finder.

(2) Y, because he was the owner of the shop.

(3) Y, because in him there was corpus and animus.

(4) ‘X, because he kept it in the almirah.

22. Read Assertion (A) and Reason (R) and give the correct answer by using the code given
below :

Assertion (A) : Laws are valid only if they are just.

Reason (R) : The aim of law is to secure justice.

Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

23. Read Assertion (A) and Reason (R) and give the correct answer by using the code given
below :

Assertion (A) : Judges must follow authoritative precedents.

Reason (R) : Authoritative precedents derive their authority from basic postulates of the

legal system itself.

Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

24. Which of the following statement/statements is/are correct ?

(a) Hobbes, Austin and Pufendorf subscribe to the view that law “Properly so called” in
command of the sovereign and enforced by a superior political authority and hence
deny legal character of International law.

(b) Oppenheim has remarked that International law is the vanishing point of Jurisprudence.

(c) Holland subscribes to the view that International law is really law.

(d) Starke has expressed the view that International law is a “Weak law”.

Code

(1) Only (a) is correct

(2) (a) and (d) both are correct

(3) (@), (b), (c) are correct

(4) (@), (b), (c) and (d) all correct

T —




21.

22.

23.

24.
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Teh A ‘X THM o IGHS § Teh o7 U1 &1 98 3H M ok WIH Y’ I WY @ €, S SH W
TR H TEH ! hedl €1 276 I8 o7 fohash weat H T2

(1) X, i 3 S foen 7

2) ‘Y, Hifh 98 gHME H @H T

3) Y, Fifer ST wifger IR AHfas (Frdg iR whme) feEm SH 7
(4) X, Fifh 3T Y ST § W@ |

IR (A) IR ek (R) I 7€ iR = U 7T e 1 omT X |t S| < -
afeRem (A) :  fafu Foa aut 9w € afg 9 =mifea €1

@ (R) : fafy =1 Sewa = aifaa & 21

e

(1) (A) 3R (R) S & T 3R (R), (A) T & ASA B |

2) (A) R (R) I ¥ T fhg (R), (A) F T AR T R

3) (A) 5E g fhg (R) T B |

(4) (A) oW € fohg (R) W& B

JAMURT (A) IR ek (R) T IR 9 fIT TT e 1 T X T SW S

AMUFRYT (A) :  =arnfien ol WifehRgul gel fofell i1 STIER0 AT =i |

qeh (R) :  Wifureryel gd foia ston wifterR waed =1 yorelt 3 el SR § YT i € |
He :
(1) (A
(2)

(3)

(4)

Freferfed wem /Al § 9 HH-91/9 ' 8/8 2

(a) Bied, 3T iR Threih 38 faam & wmefe § fof #ra ' afe aqfad &9 @ et e dl’ TS
3T ¥ IR ISR TSI Wit R yafda foran Sirar © o) safen siarsea s &t
FeNTTehel T STEHTHR T T |

(b)  3raTerEm 3 77 feuqolt @t § fF siqrrdia wrA faftreme & gume fog €

() wIve 9 foam &1 oHa € fof Siarsdia s arsad § & 7 |

(

d) kA ¥E four = fRan ® foh sawr &rE ek wA

<

3:ﬁT(R ERIRCEHES 3ﬂ'{(R A) T TE T B
R) SHi T& € fog (R), (A) 1 T =0 & 7 |

Eﬁ%ﬁ@(R Terd € |

A) 7o ® fhg (R) 9 B

vvvv

) Had (a) T T

) aﬁxdﬁﬂé%n

) ()( o) &l €1

(4) ()afr{( d) Tt T €

Ml 1

(1
(2
3
4




25. ‘Triepel’ and ‘Anzilloti” are the exponents of which of the following theory of Relationship
between International law and Municipal law ?
(1) Monism (2) Dualism
(3)  Specific Adoption Theory (4) Delegation Theory
26. Which one of the following is one of the Chief Exponents of ‘Constitutive Theory” of
Recognition ?
(1) Pit corbett (2) Kelson (38) Hegel (4) Hall
27.  Which of the following statement/statements is/are not correct ?
(a) Inaccordance with the provisions of Article 7 of the United Nations Charter, the Security
Council is one of the Principal organs of the United Nations.
(b)  The First Security Council came into being on 12t January, 1946.
(c) At Dumharton proposals, it was finally decided to establish such as an organ in the
form of the Security Council
(d) Tennon-permanent members of the Security Council are elected by the General Assembly
for 5 years.
Code :
(1) Only (c) is not correct
(2) (c) and (d) are not correct
(3) (@), (b), (c) are not correct
(4) (@), (b), (c) and (d) all are not correct
28. Match List-I with List-II and give the correct answer by using the code given below :
List - I List-II
(Provisions) (Articles of statute of court of International Justice)
(a) Law applied by the International (i)  Article 41
Court of Justice
(b) Binding force of the decision of (i) Article 62
International Court of Justice
(c) Interim Measures or Relief (iii) Article 38
(d) International court’s power to allow  (iv) Article 59
a state to intervene, in case to which
it is not a party
Code :
@ ®) © (@
O G @) 0O @
@ O @ @) @)
@) () @) @) 0
@ @ O @ G
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25. ‘TEUA’ iR ‘ufelfa’ STARIEd A SR TR A & o9 day & fefataa fagra § 9
foreeh wfedres € ?
(1) THeER (2) BT
(3) fafere st fogr (4) YAESH Hg
26. frfafad & @ &F A & Hues fagra’ &1 g wiques © 2
1) fae =fde 2) HeEd (3) A (4) @
27. Tr=fafed wum/wum 8 @ SF-91/3 98 & /8?2
(a) Y T AR o TR 7 o TEHMI o STTHR &I TRUG HIo T o T&A 3171 H Th 7 |
(b) TECH Y& AR 12 SHad 1946 ol AR H T |
(c) T o JEE W 3fad: Y& ufog o €9 H 36 YhR & 317 1 €ra1 1 Fofa fomm
(d) G IRuS o TH TR TSR 5 6 o T HerE g1 97 9 % |
<< :
(1) I (c) &t T2 B
2) (c) 3R (d) T & £}
3) (a), (b), (c) WE & T
4  (a) (b)()@?()@ﬂﬂﬁﬂﬁ%
28. GE-1 1 Geli-11 & T GAfad L AR A= fSU TT e 1 700 9@ S| <
Tqei-1 Tqe-11
(AT ) ( AT AT kit Gt o TS )
(a) ST = R A fohan T2 A (i) AT 41
(b) ST e & 0 & AR A (i) TTT 62
(c) faftd 3ura = U (iii) AT 38
(d) STRUE A &l e T 1 39 7w | (iv) 3T 59
STEH 9% vaTeR T8l § AT I Y STTA o
CARIICH]
e :
@@ (b) (9 (d)
1) @) Gv) @) ()
2 @ @ @) (@)
(3) (ii) (iii) (iv) ()
4) (i) (i)
posers i L Papert




29. Match List-I with List-II and give the correct answer by using the code given below :
List - I List-II
(Modes) (Provision)

(a) Cession (i)  Acquisition of Nationality

(b) Reprisal (i) Loss of Nationality

(c) Good offices (iii) Pacific means of settlement of International Disputes

(d) Substitution (iv) Coercive means of settlement of International Disputes

Code :

@ () © @

M O Gv @) (@

@ @ @) @) 0

@) @ @ O @)

@) @) O @ @)

30. Read Assertion (A) and Reason (R) both and give the correct answer by using the code
given below :

Assertion (A) : Article 10 of the U.N. charter confers upon the General Assembly very wide
deliberative functions except in respect of those matters which are being
considered by the Security Council.

Reason (R) : The Resolutions or declarations of the General Assembly are not binding
upon the states. They are merely recommendations.

Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

(3)  (A) is correct (R) is wrong.

(4) (A) is wrong but (R) is correct.

31. Which of the following statement/statements is/are correct ?
(a) All members of the United Nations are ipso facto the members of the statute of the
International court of justice.
(b)  The International court of justice consists of 25 judges. Which are elected by the General
Assembly.

(c) The judges of the International court of justice are elected for a term of 5 years.

(d)  All the decisions of the International court of justice are on the basis of the majority of

judges.

Code :

(1) Only (a) is correct

(2) (a) and (b) are correct

(3) (a) and (d) are only correct

(4) (@), (b), (c) and (d) all are correct

possss || LATMAERA 1 Papert




29. -1 S G-I o H1Y Gafad L 3R T ST 7T e 1 J40 F F& S| S -

elt-1 Fei-11
(a) ez @) TS ST
(b) Wl (i) T 5 w
() Fore (i) ST fomel 3 Frver 1 Wi wem
(d)  Slereee (iv) ST faarei & f9er 1 Jerqof Aread
< :
@ (b) (9 (d)
1) @ (Gv) (i) (i)
(2 @) @) @) @
(3) (@) (@) @) ()
4) (@v) (@) (@) (i)

30. Stfuehe (A) 3iR aeh (R) SHI ¢ 3R = faU 7T %2 1 JIT o Wel SW S :

MUY (A) : T T A1 & 3= 10 3 fawdi 1 Bre X 51 W Fran 9Rkug gr fa=ar

e ST T@T & HETHT 1 3Tca= & SATIh faHelicHs e WeH il 2|
e (R) : TR & Heheq I7 S9N Tl W SRR Tl € | 3 7 Fawmiest €1

31. frAfafad s/ wem § @ HH-91/3 |8 g/€ 2
() HIF T & Gl TG qq: SRULE <A™ ht WY 6 TG © |
) SRS A § 25 = 2 © S Herm gy fatfed fh S €
) ST e % T 5 a6 o Swrfed & fag feifad 24 €
) ST =ed o 9t fut =i % 9gHd o YR W fRy S £

(1) I (a) T

2) (a) 3R (b) T T

(3) Had (a) 3R (d) T& T

4)  (a), (b), () 3R (d) Tf =t &)

(TR v
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32. Read both Assertion (A) and Reason (R) and give the correct answer by using the code
given below :

Assertion (A) : When a state behaves in discourteous manner with another state,
International law confers right upon the state affected to resort to ‘retorsion’
which means retaliation.

Reason (R) : If the International disputes are not resolved through “peaceful’, means then
the states resort to compulsive or coercive means.

Code :

(1) Both (A) and (R) are correct and (R) is correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not correct explanation of (A).

(3)  (A) is correct but (R) is wrong

(4) (A) is wrong but (R) is correct

33. The ‘U.N. Commission on Human Rights” was established in 1946 by :

(1) General Assembly

(2) Security Council

(3) Economic and Social Council

(4) International Court of Justice

34. Under Hindu law, the persons descended from a common ancestor but by different wives,
are known as :

(1)  Full blood Relations

(2) Half Blood Relations

(3) Uterine Blood Relations

(4) No Blood Relations

35. Match List-I with List-II and give the correct answer by using the code given below :
List - I List-1I

(a) Agnate (i) What was heard

(b)  Shruti (i) Related wholly through males

(c) Cognate (iii) What has been remembered

(d) Smriti (iv) Related not wholly through males

Code :

@ ®) © (@

O 6 @) @ @

@ @ O G G

@) @ @) @ o

@) G @) 0O @
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32.

33.

34.

35.

4)
posos |

ATUFRT (A) 31 ek (R) I ¢ IR 1 ST 7T e &1 T L |& SW S

AR (A) : I Th T5F T T o Wi AT TER H3dT © A SATRIL HHA JIfead T
%1 Yedrg o’ gt 319 §  9faer e’ 27 1 ATIHR JeH it B

Ifg st faanci =1 g ‘srifaqot’ mredi | & 21 € @ ToF et A
FETYUT T BT HEW o © |

e (R) :

A) 3 (R) <M1 TEl € IR (R), (A) T T = |
A) 3R (R) <HT @&t € T (R), (A) T T& = T & |

 F TR O
HIEHT

(1)
(2)
(3) emfefer iR wmifser aftug
(4)

Tell-1 &1 geit-11 § gafad ¢ o F9 T U Fe 1 76 X d@@r S i
-1

(a) (@) STgTTE

(b) gfa (i) ol gEHl o HIeAH 9§ Gelfdd

(©) (iif) I TROT T T

( (iv) quiaen qel o WA § dafd el

¢ (d)
) (i)
iv) (i)
i) (i)

iii)  (iv)

i ®) ()
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36. If the condition laid down under section 5(iii) of the Hindu Marriage Act, 1955 is violated,
such marriage under the Act is :

(1)
(2)
®)
4)

Void but not punishable
Valid and not punishable
Void and Punishable
Valid but Punishable

37. Under sec. 2 of the Dissolution of Muslim Marriages Act 1939, the following grounds of
divorce are available to a wife :

a)
b)

(
(
(©)
(

38. Read

Where abouts of the husband have not been known for a period of four years.
Four years imprisonment of the husband.
Husband has treated her with cruelty.

The husband has neglected her or has failed to pay her maintenance for a period of
two years.

both Assertion (A) and Reason (R) and answer by using the code given below :

Assertion (A) : No person except the father or mother or guardian of a Hindu child has the

capacity to give such child in adoption.

Reason (R) : No re-adoption may take place under the Hindu Adoptions and maintenance
Act, 1956.
Code
(1) (A) is correct but (R) is false
(2) (A) is false but (R) is correct
(3) Both (A) and (R) are correct
(4) Both (A) and (R) are false
possss [ HHINMIRUAANE 2 Fapert




36. feg foame stfufam, 1955 &t &R 5 (jii) & Siavia <t TE vt o1 Afe Seetem foran STan & @ stfufem
& i uEr faee © -

) YA fohg St
2) fafemm=a &R <eia &

)

)

I AR e
fafemr=r fhg <

37. gﬁanﬁawﬁraﬁaﬁaﬁm, 1939 ST 9T 2 o S Ucil hl qaleh o FEfAfEd SR 3qeTsd

(a) I =1 a1 f3HMT 9R o6t ot 31afy § 7 e €1
(b) ufd =t =R Iuf # Hg
(c) Ofd = SHk |1 FIA Yok HRR TRl B |
(

d) < aul ot 3Tary o forg afd 7 IR SUS i § TS IHR 0T YI90] T 1AM i H fawd
WL

38. SR (A) 3R deh (R) IHI 9 a1 il T TT He 1 TAIT S| S -

AU (A) :  Tordt fog areres < foan @ rar = sifymaes &l Sie o forelt off =afaa 1 T8
e 1 TAH TeU B T T SATHR & T |

qh (R): fog < IR sRor-dr sifufm, 1956 % Sfarid SERT gae U0 TR @l Teha |
<< :
1

) (A) HE ® T (R) T T
2) (A) 7o ® fhg (R) 99 R
3) (A)afr{ ) S W S

4) (A) 3R (R) S Tod B |
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39. Match List-I with List-II in the light of the Hindu Adoptions and Maintenance Act, 1956
and give correct answer by using the code given below :
List - I List-II
(Section) (Provision)
(a) Sec.18 (i) Maintenance of dependants
(b) Sec.19 (i) Amount of maintenance
(c) Sec.22 (iii) Maintenance of wife
(d) Sec.23 (iv) Maintenance of widowed daughter-in law
Code :
@ () (9 (d
1) @) @) @ @
() @) @) @O @)
G O @) @ @)
@) (v) @) @ @
40. “Marriages of all persons who are citizens of India belonging to various religions should be
made compulsorily registrable in their respective states where the marriage is solemnized”.
This was ruled by the supreme court in which of the following case :
(1) Sarla Mudgil v/s Union of India
(2) Gurupad v/s Hirabai
(3) Shastri v/s Muldass
(4) Seema v/s Ashwani Kumar
41. Give the correct answer with the help of code given below :
A ‘Muta’ marriage is :
(a) A temporary marriage
(b) Recognized under sunni law
(c) Recognized under shia law
(d) A marriage for a fixed period
Code
(1) (), (b), (a) and ()
(2)  (b), () and (d)
(3) (@) (© and (d)
(4) (a), (b) and (d)
possss || LATMAERA 2 Papert




39. gEi-1 1 Gei-11 9 gafad & 3R feg 3o iR wRor-drwr sifufem, 1956 & ofeis # e e
T %< T JANT Sl Tel K S :

40.

41.
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(c)
i @
D ()
i) ()
O @)

“fofirer gdl % TR STl YR o AT 9 safaddl % foare o ST Gefud Ul Sel forere s
g3 & § eifard w9 ¥ e & =nfen )’
ﬁvhrfamsm:

1)
(2)
(3)
(4)

LA HTA SH YR H
TS ST SIS
M S oA

e M AT FHAR

= fT T e At Herdr ¥ W W A

a1 foemg ©
Teh SRR foae

g1 I o STdid A= 9T
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42. Match List-I with List-II in the light of the Hindu Marriage Act, 1955, and give correct
answer with the help of code given below :
List - I List-1I
(Section) (Provision)
(a) Section 14 (i)  Alternative Relief in divorce proceedings
(b) Section 13-A (i) Restitution of conjugal Rights
(c) Section 9 (iii) Judicial separation
(d) Section 10 (iv) No petition for divorce within one year of marriage
Code :
@@ (b) () (d)
1 Gv) @ @) ()
2 O Gv) (@) ()
G Gv) (@) @@ @
4 @ @ @O @)
43. Read Assertion (A) and Reason (R) and give the correct answer by using the code given
below :
Assertion (A) : A proposal may be revoked at any time before the communication of its
acceptance is complete as against the proposer, But not afterwards.
Reason (R) : Section 5 of the Indian contract Act 1872, deals with the revocation of
proposals and acceptances.
Code :
(1) Both (A) and (R) are correct, but (R) is not related to (A).
(2) (A) is correct, but (R) is wrong.
(3) (A) is wrong, but (R) is correct.
(4) Both (A) and (R) are correct, and (R) is the correct explanation of (A).
44. Which of the following statement/s is/are correct ?
Consideration is :
(a) a price for any promise.
(b) only a moral obligation.
(c) a motive for any promise.
(d) something of value in the eye of law.
Code :
(1) (a) and (c) are correct
(2) (a) and (d) are correct
(3) (b), (c) and (d) are correct
(4) (c) and (d) are correct
possss | HIHATAND 2 Fapert




42. o< foare sifufrm, 1955 & oTeies § ei-1 3R Geii-11 1 gafad switse 3ik = fou ™ g =t
TRl § HWE I S
geit-1 Ter-11
(&mT) QIERIED)
(a) 9N 14 (i) TR e § kiU Ted
(b) N 13-T (i) SFIA SATYHRI T FARIT
(c) M9 (i) TR GereRRTTl
(d) 9w 10 (iv) foremg & Tk Y o S qateh o foIT g STl T
<
@ (®) (o (d
1) (v) @) (@) (i)
2 @ (v) (i) (i)
G) (v) (@) @) @
(4) (@) @) (@) ()
43. 3AMURAT (A) IR ek (R) Tl 9 iR = fW T¢ e 1 JoRT X |t SW S -
AR (A) : TS SR Tk TS SHoh TR fohT ST ol =1 <9 9 U fohadt oft wma g
foren < weman 8, <ifeh 39 39U el |
e (R) : IR dfaer AfufEm, 1872 1 &R 5 JrE ol aTqd T IR 3% TR & &
TIMH T
<< :
(1) (A) 3R (R) I =& € fohg (R), (A) & Haifea =& 31
2) (A) 5E g fhg (R) T B |
3) (A) oW © fohg (R) W& 1
4) (A) 3R (R) 1 T € 3R (R), (A) T T =08 7
44. Tr=fafed sweud/se § 9 SH-9/9 98 8/82?
gfqwa % :
(a) Toret off =M =t A4
(b) had Afde arEEd
(c) TRl off 3= & fag &RT
(d) wrE F g § FE o gegen =
<< :
1) (a) 3R (c) & T
2) (a) 3R (d) T F
(3)  (b), (c) ¥ (d) ¥ E1
4) (o) 3R (d) T T
possss | [TMIAE AN 2




45. Consider the following statements and give correct answer with the help of code given
below :
The case of Mohori Bibee Vs Dharmodas Ghose :
(a) has laid down that a minor’s contract becomes valid when he attains majority.
(b) is the decision of the Supreme Court of India regarding minor’s contract.
(c) is the decision of Privy Council regarding voidness of minor’s contract.
(d) has laid down that contract without consideration is void.
Code :
(1) (c) and (d) are correct, but (a) and (b) are incorrect.
(2) (a) and (b) are correct, but (c) and (d) are incorrect.
(3) (c) is correct, but (a), (b) and (d) are incorrect.
(4) (b) and (d) are correct, but (a) and (c) are incorrect.
46. Read Assertion (A) and Reason (R) and give the correct answer with the help of codes
given below :
Assertion (A) : Acceptance is to offer what a lighted match is to a train of gunpowder.
Reason (R) : Acceptance cannot be separated from offer.
Code :
(1) (A) is true but (R) is false.
(2) (A) is false but (R) is true.
(3) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(4) Both (A) and (R) are true but (R) is not the correct explanation of (A).
47. The defence of ‘non est factum’ is available to the contracting party who has committed
mistake as to the :
(1) Identity of the other contracting party
(2) Nature of contract
(3)  Quality of the subject matter of the contract
(4) Quality of the promise made by the other party
48. Under the Indian Contract Act 1872 Which one of the following does not fall in the meaning
of fraud :
(1) Active concealment of a fact.
(2) Suggestion, as a fact, of that which is not true, by one who does not believe it to be true.
(8) Positive assertion of unwarranted statements.
(4) A promise made without any intention of performing it.
possss || LATMAERA 2 Papert




45.

46.

47.

48.

frefafed Fel W faar & &R = feu T Fe =t e 9 9@ S| <
HIRR] Sl S g = e
a) A fauifia foren fo stereer o gr0 fomen o wfeer 3T 9%k M W 34 2 <
b) 3T % Gioal & Tee H = =Eed & o ¥
c) T o Hfaal &I Il % Gey § g wifaa & ol
d) 7 fruifa foren for wfawa o fomr dfaer 3= 7

¢) 3R (d) T2 T, Fhg (a) 3R (b) 7o 1
3R (b) W & R (¢) &R (d) Tem 21
& ¥ fohg (a), (b) 3R (d) e ¥ |

3R (d) W& € fohg (a) TR () T B |

ATUFHLT (A) 31X Tk (R) T¢ IR = ST TT Fe &l Fo=ar 9 @& SW S

AR (A): TS FI Wipfa T & T S 6 Hi W F faw wiew i St g8 e |
e (R) : Th{d Sl TEI & Gk TRl TR ST Feha |

<

1
2
3
4

A) T % fohg (R) Tord ©

A) TTerd € fohg (R) T2 ©1

A) 3R (R) SHI W& € 3R (R), (A) ! & AR |
)

(
(
(
( A) 3R (R) T &l € fig (R), (A) T T2 = =& )

)
)
)
)

RICHIERCICI ISR ERE o GaY T TeAd il § Rl ARG q24 ok AfErs H giaa
T

(1) TR HfISHRR 981 i 9g=H

(2) wferT =T gHfa

(3) wfast =t o sreg =t Turer

(4) THL U % gN ST I == T Jorer

Rt daer stfufrem, 1872 % siqria frafafad # § HH-91 % & o1ef § 7@ o7 €2
(1) T3 = Wik €I § YA

(2) GEE, IHQ:, 396 AT T & T S 36k T T W favard TE L ¢ |

(3) ST HUA H ThRIHS SR |

(4) T g9 S 3 U foRe S 6t Hen o o femn

)
)
)
)
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49. Special damages will be awarded in case of a breach of contract :

(1)

Only when the contracting parties express the same specifically as the terms of the
contract.

Always in the special circumstances leading to the formation of the contract.
Only when the court of law thinks fit in the special circumstances of the case.

Only when the special circumstances causing loss of profit resulting from the breach of
contract were brought to the notice of the party committing breach at the time of
formation of the contract.

50. Which of the following statement/statements is/are correct ? Give correct answer by using
the code given below :

(a)

Tort is a civil wrong for which remedy is a common law action.
Tort is exclusively a breach of contract or breach of trust.
Tort is an infringement of a right in rein of a private individual.

Tort is violation of a legal duty owed to people generally for maintenance of law and
order.

Only (b) and (d) are correct

Only (b) and (c) are correct
)

(
(
) and (c) are correct
a) and (d) are correct

51. Match List-I (name of case) with List-Il (name of defense) and give the correct answer by
using the code given below :

posans ||

List - I List-II

Samira Kohli Vs Prabha Manchanda i)  Plaintiff a wrong-doer

Sodan Singh Vs New Delhi Municipal Committee (i

(

(i) Leave and licence
Bird Vs Holbrook (iii) Act of God

(

Kallulal Vs Hemchand iv) Necessity

@ (b) (o) (d)
() (@v) @) (i)
O @@ (v) (i)
G @ (@) (i)
(i @ @@ @)
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49. Wfagr ¥ BF & Ame § fAfated | 9 fea fafa 9 fax afagfd s stfufol feon smom -

1)
(2)
(3)
(4)

FHad at e Hiaer A el U7 Giaer S vt | 39 Ay 'Y ¥ e 4 B
Goa TR afRkfeerfaal § e SR GfesT o1 e gt
Fae quft e =rTerd " i fogy ufifeafa #§ 5@ Sugea @er §

Shae aHt 59 GiaeT o TS & IHA W H 9Tl 94 ok W § 3 fonmw uRferfas, e
HROT HiaeT o7 T % TROTHEERY A1 i g1 g2, 1 @ T

50. frafafed # @ wF-91/9 FoF W& 8/8 2 ) G 73 e &1 7E #d gu Wal SR A
(a) STIFH AN TIRR § FTHH ITER A= HIA HRAERET B |
(b) 3TIH hHae Hiaer W tan favarg o F)
() oupe frsht afed & weldeht siferrr w1 fashmor T
(d) STIFHE TH: Ml TR HTA FTEN  W-T@E & T s fafess w3 1 Seeted Tl
<< :
(1) Had (b) 3R (d) =& T
2) HaA (b) 3R () T T
(3) Had (a) R (c) T T
(4) FA (a) 3R (d) T LI
51. Geit-1 (A1 1 A1) w1 Gei-11 (TfTamet 1 A1) % a1 gafad w¢ iR 9= & 73 Fe & 5@bm
FXd U H S T
geit-1 gEit-11
(a) HHII Shigeil S U Aal (i) 3T KT el o]
(b) Ere fog o 8 feeedt TR wihfd (i) SIS TE ST
(c) &S T BALH (iii) <EFT
(d) hecldlel SHM SIS (iv) STl
<
@ (b) (9 (d)
1) @) Gv) (@) (i)
2 @ @) @v) ()
®) @) @ @) ()
(4) @) @@ @) ()
posss [ IR 2 Paper




52. Which of the following is correctly matched in relation to the defences of tort of
defamation ?
(1) Fair comment - An expression of statement of fact rather than expression
of opinion
(2) Absolute previlege - Statements made by the members of either House of
Parliament in the House or outside the House
(3) Justification by truth - It is enough if the statement is substantially true and may
not be mathematically accurate
(4) Consent - Plaintiff has not consented to the publication of defamatory
words by the defendant
53. Which of the following case is not related to ‘Remoteness of Damage’ ?
(1)  Scott Vs Shepherd
(2) Inre an Arbitration between Polemis and Furness, Withy and Co.
(3) Sirros Vs. Moore
(4) Overseas Tankship Ltd. Vs Morts Dock and Engineering Co.
54. Which of the following tort is not related to nuisance based on ‘Physical discomfort” or
interference with another’s health and safety ?
(1) Obstruction of light
(2) Injury to property
(3) Noise pollution
(4) Pollution of water and air
55. Match List-I (name of case) with List-II (capacity to sue) and give the correct answer by
using the code given below :
List - I List-II
(a) State of Saurashtra Vs Memon Haji Ismail (i)  No right to Sue as an
un-incorporated association
(b) Delhi Transport Corporation Vs Kumari Lalita (i) Municipallaw does not apply
() Brown Vs Lewis (iii) Suit against corporation
(d) Campbell Vs Paddington (iv) Suit by minor
Code
@ (®) (9 (9
O @ @) 6 @
2 @O @ (@) (i
() @) @ @ @)
4) @v) @) @ @)
Foses I % Papert




52. TR % TUFH % Ufaare & day H frfafad # ¥ i @& gafed 82
(1) Sfaa et feoqoft LT o AT o Yohed o I I T Jhed
2) froy foumfer TGS % I H W Tk UeH o G g US| el ¥ 6
ISR RIPIEER
(3) U g =A™IaA g JAT ¥ Afe Jeded aRqa: 9 © IR T 6 STER TsheH
eI el & HWehdl
(4) SeHfd ST R She & AR QUi Il o YRR i Fedfd
SRR 3 TR R
53. frafafed § § ®F-91 9% ‘&fd & g8 § Hafed & 8 2
(1) Thic 9M SHE
(2) U IR wd, fodt UT . % Hed Y meAwrar
(3) fotE a T R
(4) SieREs Sanfem fafiee s9m Ay ef T8 SSiiafT .
54. frafafad o | sH-91 T ' it srgfaun’ steren fre o @ T Qe § 9Es1e W eid
U § e T 2
(1) 9 | g
(2) Hufd 1 &fd
(3)  =Ar wg
(4) S T A1 T
55. Fe-1 (A1S 1 M) i Far-11 (ST 1 Jmed) & 9o gafad v AR = 53 781 e 61 5=
A BT el SR ST
g1 Tqet-11
(a) RS T I HAA BTSN SR () AFFIfHG Heen & w9 H AWM
SR T8l
(b) Tecett TiHuR HReH SHT FAR Aferd (i) TRF FHAT AF] TR B
(c) oA oM wfer™ (iii) T % foeg g
) FHred s Y (iv) 3Ta%h R HehaH
<
@@ (b) (9 (d)
1) @) Gv) @ ()
2 @ @) (v) (i)
®) @) @) @) ()
(4) (@v) (@) @1 ()
posss || HTANAACAIN 5




56. Read Assertion (A) and Reason (R) and answer by using the code given below :

Assertion (A) : Negligence means a conduct which creates a risk of causing damage, rather

than a state of mind.

Reason (R) : It is safe to start a bus before passengers completely get into it.
Code :

(1) Both (A) and (R) are correct, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) (A) is incorrect and (R) is correct.

(4) (A) is correct and (R) is incorrect.

57. Which of the following statement is correct in relation to Consumer Courts ?

(1)

National Commission has power to transfer a pending complaint from a District Forum
to another in the same State.

State Commission has power to transfer a pending complaint from a District Forum to
another in the same State.

National Commission can not have circuit benches except the permanent bench at
New Delhi.

State Commission can not have circuit benches but can have two State Commissions.

58. Point out the correct statement :

1)
(2)
®)
4)

Crime is necessarily an immoral act.
Crime is necessarily an anti-social act.
Crime is necessarily an anti-communal act.

Crime is necessarily an anti-religious act.

59. Four accused with common intention to kill, shot one B in the bona fide belief that B was A.
In this case :

(1)
(2)
®)
4)

possss [

None of them is liable for the offence of murder.
All accused are guilty of causing death.
Section 34 of Indian Penal Code does not apply.

All accused are guilty of causing death without invoking Section 34.
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56.

57.

58.

59.

IR (A) 3R ek (R) 1 7 IR = f53 & T2 1 T FTd gL S| A
AU (A) : e T W U MRW | ® S &fd wg=m w1 Sifem 3w F a9

T feafa €1
& (R) : T % =g o Y o =1e] HEAT G
<< :
(1) (A) 3R (R) S Tt & de1 (R), (A) T T = B

(A)

2) (A) 3R (R) 3T T & AfFA (R), (A) B T =mEn @ R
(3) (A) el ¥ ¥R (R) W €

(4) (A) T2 ¥ 3R (R) Terd T

IYYIFT =l & ey H fEfafad § 9 hA-91 wed 96 g ?

(1) fo=mue= frrra 1 e ®RE 9 39 U9 § SO S8 SIAIRd i i 9o TS STREmT
&I T

(2) fommuH= Rk s fSen w9 36 T 3 g S8 TR i i 9fed 9 ST &
TH R

3) T fcet feaq Tmd We o sTelen U STEnT Wfehe o9 T8 7@ Hehdl |
(4) ST AR Hiche o T8l TG Fhal ATk QI ToT AR T@ Tohdll ¢ |

e FUT HHA-H1 8 ?

(1) 3Ty Afarid: fas w7

(2) 3TUUH 3ferid: THe-foRiet % ¥
(3) TUU INfarid: TrRE-foRiedt & T
(4)

4) Uy AaRa: gH-foriedt % ®)

&I S h! HHM A o |12 IR ARG 59 HHEYEF (I9eTd o |1 B % 7ol ARd § fo B, A
o1 3H HHA H :

(1) 378 | A off T % STy & forw SRR T 7
(2) Tt TR Tog FIA FH & O |
(3) R gue Hfedl i € 34 AN T &It ¢ |
(4) Fft SRR &R 34 & TS o 91 T HIRA HIA o QW T

posens | 1ALV 5



60. Under Section 65 of Indian Penal Code, 1860, sentence of imprisonment for non-payment of
fine shall be limited to :

(1)  One-half of the maximum term of imprisonment fixed for the offence.
(2)  One-third of the maximum term of imprisonment fixed for the offence.
(3)  One-fourth of the maximum term of imprisonment fixed for the offence.
(4) One-fifth of the maximum term of imprisonment fixed for the offence.

61. Under which of the following sections of the Indian Penal Code, 1860, promoting enmity
between different groups on grounds of religion, race, place of birth, residence, language etc.
and doing acts prejudicial to maintenance of harmony is dealt with ?

(1) Section 153

(2) Section 153-A
(3) Section 153-AA
(4) Section 153-B

62. A instigates B to murder D. B in pursuance of the instigation stabs D. D recovers from the

wound. Here A is guilty of :

(1) Instigating B to commit murder

(2) Instigating B to commit attempt to murder
(8) Instigating B to commit grievous hurt

(4) No offence

63. Under which of the following provisions of the Indian Penal Code, 1860, an assault or criminal
force used in attempting to commit theft of property is punishable ?
(1) Section 356
(2) Section 378
(3) Section 379
(4) Section 384

64. ‘X gives grave and sudden provocation to “Y’. “Y” on this provocation, fires a pistol at X,
neither intending nor knowing himself to be likely to kill “Z’, who is near him, but out of
sight. “Y” kills “Z’. Here “Y” has committed :

(1) Death by negligence
(2) Murder
(3) Culpable homicide not amounting to murder
(4) No offence
possss || LATMAERA e Papert




60.

61.

62.

63.

64.

IR g€ dfedl, 1860 i ¥R 65 o A SMAMT 7 1 T SR hl USRI qh
HifHa B |

(1) 39 390y & fau fad sifberad e 6t stafy 1 e

(2) 9 WY & fou fHaq sifechan wREM ®i 3@y =1 T faers

(3) TH TIY  fau Fa ifuehan wRE™ i 1Aty &1 T =\

(4) 39 TR % forw fora ifershan SR i erafy w1 aien e

IRAT 38 Gfedl, 1860 1 Fefafed § ¥ frg u/ & siqia oH, Joew, SH-¥F, fHem-wm,
7o, TeTfE o MU W fafye Togl o o= S 1 Wye R Hie s W W Yidhe 99re SeH
et e | e ST § 2

(1) = 153

(2) 4R 153-T
(3) YR 153-TT
(4) 9/ 153-sit

A, B &I D &I 1 T & fAU SHAM@I T | B 36 IHTE WD &I =g AR @M R | D, o9 § W 2
ST ¥ 1 R A EoRiL

(1) B I A & & foT IshE™

(2) B ol T 1 FAH FH h foIT Iham

(3) B I ¥R < TgaH & forw 3hEm

(4) HIS TIY &

TR g5 dfedr, 1860 & ffafad geai & 9 formes i@l Tufd ol 9 & 99 § g9l a1
SISt 1 JET S & 2

(1) =T 356

(2) T 378
(3) ®RT 379
(4) T 384

X, Y BT TR 3TR ST Yehige O SHAMT 81 39 SHE™ WY, X T FUEdiel § Tielt = €,
T 1 ST AT AT o 3R 7 & T8 I8 S o foF 77, S 35k gy g, fohg few T we wi g,
STET Y’ ‘7 o Gog HIRa S g1 J&i Y AR g

(1) U&7 % 5N §og

2) @l

(3) B I hif H T A o1t SATITYh TS 9

(4) I TIY TE
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65. Match List-I with List-II and give the correct answer by using the code given below :
List - I List-II
(a) Dishonest taking of property (i)  Criminal breach of Trust
(b) Dishonestly inducing any person to (i) Extortion
deliver property

(c) Entrustment of property (iii) Criminal Misapprociation

(d) Conversion of property (iv) Theft

Code :

@ () © @

O 6 @ G W)

@ ) @ 6 )

@) @ @) @ @

@) @ G 6 W)

66. Read Assertion (A) and Reason (R) and give the correct answer by using the code given
below :

Assertion (A) : Nothing is an offence which is done by a person who, at the time of doing
it, by reason of unsoundness of mind, is incapable of knowing the exact
nature of the act.

Reason (R) : Mistake of fact is a good defence and mistake of law is no defence.

Code :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3)  (A) is true but (R) is false.

(4) (A) is false but (R) is true.

67. Match List-I with List-II and give the correct answer by using the code given below :
List - I List-1I

(a) Mehboob Shah Vs. Emperor (i) Mens rea

(b) State of Maharashtra Vs. M.H. George (i) Intoxication

(c) Director of Public Prosecutions Vs. Beard (i) Common Intention

(d) R.V. Dudley Vs. Stephens (iv) Necessity

Code :

@ () (9 (d)

O O 6@ @ W)

@ @ @) 6 G

@) @) O @ @)

@) (v @ @ o
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65. Fe-1 1 Gelt-11 & T GAfad sifee 3k F= T 0 e 1 780 o 98 WS :

66.

67.

posans [

Tqei-1

(a) SEAM ¥ GO o o (i)

(b) IEAM & fHEh =Afa 1 Hufa afed A & fag (i)
IARA T

(c) wufa Fidar S

(d) Hufd s Huled (iv)

Tqer-11

SMTeh =Y

(
1) @
(2) ()
3 @
4) (i

ATUHRLT (A) IR ek (R) T¢ IR =1 ST TT e il AN W @& SW S
AMTRIT (A): T ot Ty & § < U Afaad o g0 o T < 9% e ww T fasfa &

FROT 3H FE i Sih-3h Fpid o+ H srEmef T

e (R) : At Ffe TH 3701 991G § IR HEA Ht Ife HE I 7 B |
e :

(1) (A) 3R (R) 1 W& § 7R (R), (A) T 9L =08 T

() (A)33ﬁ'{(R ﬁﬂ%”f%?ﬂ(l{ ) i T AR T

(3) (A) WE g fohg (R) T B |
4) (A) W%W(R & R

Get-1 1 Geit-11 % T Gaferd ¢ 3R = <ie 1T e 1 98 o 98 S <
geit-1 git-11

(a) TR TME oM TS (i) AUt wA:feafd
(b) HERIS T oM TH. TS (i) wan
() Ticems, @ AREISH a9 W a8 (i) HHE SR
(d) SRl TS T RIhd (iv) RIS
<
@@ () (9 (d
1 @ @) () (i)
2 @) (@Gv) (@) (i)
3) () @@ @) ()
@) @) @) @) ()
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68. Match List-I with List-II and give the correct answer by using the code given below :
List - I List-II
(Provision for) (Sections of I.P.C.)
(a) Punishment for causing death or resulting (i) Section 376-D
in persistent vegetative state of victim
(b) Sexual intercourse by husband upon his (i) Section 376-B
wife during separation

(c) Sexual intercourse by a person in authority (iii) Section 376-A

(d) Gang rape (iv) Section 376-C
Code :
(@ (b) (o) (d)
M @ @) (G ()
) @) (@v) @ ()
@) () @) (@) ()
@) (@v) O () ()

69. Give the correct answer by using the code given below :

(a) The workman has a right to approach the Labour court directly without waiting for

the conciliation proceedings and government reference.

(b)  The appropriate government in respect of Corporations and Public Sector undertakings

owned or controlled by the central government will be the central government.

(c) Every industry employing 20 or more workmen is under legal obligation to Constitute

and have a Grievances Redressal Committee.

(d) The award passed by the Labour Court can be transmitted to a Civil Court for the

effective enforcement of the award.

Code
(1) Only (a) and (b) are correct.
(2) Only (c) and (d) are correct.
(3) Only (@), (b) and (c) are correct.
(4) c) and (d) all are correct.
posus HHIIH\IHHHIHII s Papert




68. WEI-I o1 Geit-11 & Fafera i IR = I T Fz 1 JI01 o0& WS :

1
2
3

(
(
(
(4

)
)
)
)

geit-1 qer-11
(... foTq grerem ) ( e €€ wfgar st g )
Hifedt st Hcg AT TR fashasitel ST il it (i) o 376-<€
& fau <

ufd gRI 31T Uit 3 T YRR % SRA He[F (i) ®RT 376~
R H forelt safed gro figq (iii) ©NT 376-T
qrHfesh ek (iv) ® 376-9t
@ (b) (9 (d)
(@ @) () ()
() (iv) (@) (i)
(i) () @(v) (@)
(iv) (@) (D) (i)

69. = ST 7T e w1 FANT R T W AT

()

T HUSR H g wEaedl IR TRER Hl Heid TRy S &1 wdten o fom e s\
™ B S i AR B

% ThR o i § steren sHe g et el 3R gresifen &5 o STHl % " |
T TR hg TR BT |

T A fSEH 20 =1 At wHeR faifed & aftare gwam wfafa 1 789 e a1 e
AT ST T |

g9 FrEred g feu u s1fy-fAofg sqes guret yadq & fau fafaa = = 99 S 9ed
gl

Had (a) 3R (b) W ¥ |
Fad () 3R (d) = ¥ |

%o (a), (b) 3 () HE B |
(a), (b), (c) ¥R (d) wﬁ%@%l

Ml =



Read Assertion (A) and Reason (R) and give the correct answer with the help of codes

The strike or lockout as the weapon has to be used sparingly for redressal of

urgent and pressing grievances when no means are available or when

The employment that workmen get and the profit the employer earns are

both generated by utilisation of the resources of the society in one form or
other and they are to act as Trustees of the said resources.

Match List-I with List-II and select the correct answer by using the code given below :

List-I1

Award

Bharat Singh Vs Management of
New Delhi Tuberculosis Centre

Justice V.R. Krishna Iyer

Section 2-A(2) Industrial Dispute
(Amendment) Act 2010

70.
given below :
Assertion (A) :
available means have failed to resolve it.
Reason (R) :
Code
(1) (A) and (R) are true, and (R) is the correct explanation of (A).
(2) (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is false, but (R) is true.
(4) (A) is true, but (R) is false.
71.
List - I
(a) A strike could be legal or illegal and
illegal strike could be justified one
(b) Right of the Workmen to approach the
Labour Court directly within a period of
three years
(c) Right of the workmen to payment of full
wages pending proceedings in the
High Courts
(d) An interim or a final determination of any
Industrial Dispute
Code :
@ () ©
0 G @) @ o
@ O @ @ W)
@) @ G @)
@) @) @ 6 @)
possns || IR 0
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70. 3TFURY (A) 3R Tk (R) I 31X = U T e FT Temar § |Wér W T

Afeher (A) :  TchIfarsh 3R Heequl UfErel & THIEE & foru, Sia g |eF Suesy 8 § A
3UCTSY WL T THIHM 4 B f9hel W €, AUAeEasy gediel a1 deisial
PR & 1 H 7E F B

e (R) : FHHR D1 S ISR Terar & qen Friere St any ifsta oear & <M1 foreht 7 Tt
Y H TS % FHIEA F FA gR Gied 2 € iR 3 3 HaneHl o = % ®9
H 1 BT R

<< :
1) (A) 3R (R) T T IR (R), (A) T T ARAT T |

2) (A) 3R (R) T&l € &g (R), (A) T T& = =& 71
3) ) TTera ® fehd (R) T R
4 ()

(A) TE ® fohg (R) TTord § 1

(
(

3) (A

4

71. Gei-1 3R GE-11 1 gafea o aen = fSU T e 1 J40 L | S ST

-1 Tqe-11
(a) TUH TSAA oY o1 3T B Hehell & IR e/@y ()  stfufoi
Teara siifarget & HehaT §
(b) hHHR 1 A Tuf wt erafy F AR G (i) Rd 68 TW ¢ fooel quiees e
9 A H S T SAHHR EERCE]

(c) HHGR F I AR H wEAAedl o dfod (i) ~AEgfd o3TR, FOM T2

& qo U1 HSIg % M I AR

(d) TREh oft sireifirr faars o sfaftg stemn i (iv)  oR12-%6 (2) SFEifiTen foag (Heem)
[REL srfaf=m 2010

@ () () (d)
1) @) @v) @) @

2 @ @ @) (@)
3 @) @) @) 0

@ (v G O i)
yassis [[[[ITEIMIRALANE s

C

1

.

)
)
)
)




72. “Although the Judicial interpretation given to the expression “Industry” by Supreme Court
in Bangalore Water Supply Case was intended to settle the test to determine its scope, judicial
trends point out that it has done more damage than good, not merely to organisations but
also to employees by curtailment of employment opportunities”. The above trend is reflected
through one of the following case :

(1) Corporation of city of Nagpur Vs Employees
(2) State of Bombay Vs Hospital Mazdoor Sabha

(3) Coir Board, Ernakulam, Cochin and another Vs Indira Devi P.S. and other
4)

4) Madras Gymkhana Club Employees Union Vs Gymkhana Club

73. Answer the following using the code given below :

The condition precedent to the order of Reference under section 10(1) of the Industrial Disputes
Act is the satisfactions of the appropriate government to the following :

(a) Existence of Industrial Dispute

(b) Apprehension of Industrial Dispute
Code :

(1) Both (a) and (b) are correct.

2) (a) alone is correct.

(2
(3) (b) alone is correct.
(4) Both (a) and (b) are wrong.

74. Read Assertion (A) and Reason (R) and give the correct answer with the help of code given
below :

Assertion (A) : (a) The unrecognised union has right to meet and discuss with the
employer the grievances of Individual workman with the employer
and

(b) to appeal and participate in a Domestic Departmental Enquiry in
which its member is involved.

Reason (R) : This is a statutory recognition of a unrecognised Union.
Code :

(1) (A) and (R) are true and (R) is the correct explanation of (A).

(2) (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is false, but (R) is True.

(4)

jossi !IIH||H|!||||H|

) is true, but (R) is False.
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72.

73.

74.

IATH AR R STAR a1l Tl (SR Sfemgfd) Ame | sam’’ stfveafad w1 aafa fo
=ifen Tei=r feon = on S 35 Sfuerr & faftor skt Site o1 e w0 & o sifimq o,
e ygfaat sardt € foh sam 7 fadk Fei 1 31fug SR & ST i W FHTh HHAMET I
Y TEIH O FE At wif wgeE | SwE ygta frefafed § 9 R ww Amer & A 9
Jiafatterd g ¢ :

(1) MR TR 79 a9 FHart

(2) oIS T M BT HSigL 94l

(3) H IS, TAIHEH, = R T FM e ol T.Td. AR 31

(4) we™ SHEM F9 HHAR I o9 W SEa sqw

= feu 7T e w1 yEm W FreEfateg w1 T
sirenfiren foarg stfufm &1 9 10(1) & Sidid 91 & A9 & g6 ot ¥/ FeAfarad & gfd

qfad TR I Ggfe ¥
(a) SRR foamg w1 AR
(b) sirEnfiren foeme =t s

e

(1) (a) 3R (b) <1 =t ¥
2) HAA (a) TR T

(3) Fad (b) W I

4) (a) 3R (b) I Terd T

AR (A) 3R ek (R) I¢ a1 1< ST T Fe Fl T 9 O S| S -
AMRAT (A):  (a) TR TFIAIITE IFTEA R TAT FA qAT AT FHBR ot kT 6 T
wfaref % IR § it % w1y == w0 R IR € 8

(b) = favria Sita fored 39 Tow dfea €, oTda w3 qen i o &

AR
T (R) : g TR ATt e i St 7
<
1 (A)33ﬁ'{(R Al TE € 3 (R), (A) T & == B

(A) 3R (R) ST T& ¥ fahq (R), (A) T T =0 & 7 |
(A)W%W(R & R
(A) T& & fhg (R) TTemd 1

(
(2
(

)
)
3)
(4)
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75. Answer the following using the code given below :

The following are the pre-condition for acquiring Jurisdiction by the National Tribunal Under
the Industrial Disputes Act :

(a) Industrial Dispute must involve question of National importance in the opinion of the
Central Government

OR

(b) Industrial Dispute must involve question of State importance in the opinion of the
State Government

OR

(c) Industrial Disputes must be of such a nature that Industries situated in more than one
State and are likely to be interested in or affected by such disputes

OR

(d) Industrial Disputes must be of such a nature that Industries situated in more than five
States and are likely to be interested in or affected by such disputes.

Code

(1) (a) and (d) are correct.
(2) (a) and (c) are correct.
(3) (b) and (d) are correct.
(4) (d) alone is correct.

76. Read Assertion (A) and Reason (R) and give correct answer by using code below :

Assertion (A) : Administrative law is a branch of public law in contradiction to Private

law.

Reason (R) : Administrative law primarily deals with the relationship of individuals inter
se.

Code

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

(3)  (A) is correct (R) is incorrect.

4) ) is incorrect (R) is correct.
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77. Match List - I (name of case) with List - I (principle of natural justice) and give correct
answer by using the code below :
List - I List - II
(a) Hira Nath Mishra Vs Rajindra (i)  Right to notice or requirement of notice
Medical College
(b) Union of India Vs Mohd. Ramzan (i) No evidence should be taken at back of
Khan the other party
(c) Maneka Gandhi Vs Union of India (iii) Report of the enquiry to be shown to the
other party
(d) Union of India Vs Narendra Singh (iv) Reasoned decision or speaking orders
Code :
@@ (b) () (d)
1 @) Gv) @O )
() (v) @) @ @
G @ @ @) @)
4 @ @) @) @
78. Match List - I (name of case) with List - II (name of writ) and give correct answer by using
code given below :
List - I List - II
(a)  Sunil Batra Vs Delhi Administration (i) Quo Warranto
(b) U.N.R. Rao Vs Indira Gandhi (i) Habeas Corpus
(c) Gujrat State Financial Corporation Vs Lotus Hotels (iii) Certiorari
(d) Nalini Ranjan Vs Annada Shankar (iv) Mandamus
Code :
@ ) © @
W) @ @ 6 @
@ v @) @ 0
@) @ @ @) ()
@ @O @ (@) (@iv)

79. In which of the following case the Supreme Court of India ruled that when the selection
process consists of only a viva-voce test without any written examination no limit need be
imposed on prescribing marks for the interview.

(1) A.K. Roy Vs Union of India
(2) A.P. State Financial Corporation Vs C.M. Ashok Raju
(3) Sambhu Nath Sarkar Vs State of W.B.
(4) P. Lakhanpal Vs Union of India
possss [ HHIHAIRLA AN . Fapert
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80.

the code given below :

(a) Absolute discretion is a ruthless master.
reasonableness is subjective and not objective
arbitrary.

Code

(1) Only (a) and (b) are correct.

(2) Only (c) and (d) are correct.

(3)  Only (b) and (d) are correct.

(4) Only (a) and (d) are correct.

81.

Act, 2013 ? Give correct answer by using the code given below :

(a) Commission of Inquiry Act

(b) Central Vigilance Commission Act

(c) Code of Civil Procedure

(d) Central Bureau of Investigation Act

Code

(1) (a) and (b) are correct.

(2) (c) and (d) are correct.

(3) (a) and (d) are correct.

(4) (b) and (c) are correct.

82. Which one of the following is incorrect ?

(1) Montreal protocol is related to Hazardous Waste.
principles of sustainable development.
environment.
fumes in the territory of another.

possss [ HHINMIRUAANE

Which of the following statement/statements is/are correct ? Give correct answer by using

(b) Where reasonable conduct of government official is expected, the criterion of

(c) Every action of the executive government must be informed with excuse and should be

(d) Exercise of discretion is an inseparable part of sound administration.

Which of the following Acts shall be amended as per Section 58 of the Lokpal and Lokayukta

(2) The Precautionary Principle and Polluter Pays Principle are essential features of the

(3) The Stockholm Declaration of 1972 has been described as the Magna Carta of our

(4) No state has a right to use or permit the use of its territory so as to cause injury by

48
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83. “The State is the trustee of all natural resources which are by nature meant for public use
and enjoyment and that Indian legal system includes the Public Trust Doctrine as a part of
its jurisprudence”

The Supreme Court of India has observed the above in one of the following case :

T.N. Godavarman Thirumulpad Vs Union of India

M.C. Mehtha Vs Union of India

(1)
(2) Indian Council for Enviro-Legal Action Vs Union of India
€)
(4) Shri Sachidananda Pandey Vs State of West Bengal

84. Match List - I with List - IT and give correct answer by using the code given below :
List - I List - II
(a) No state has a right to use or permit the use of (i) Basel Convention

its territory so as to cause injury by fumes in the
territory of another

(b) The Economic Benefit must substantially exceed (i) Trial Smelter Case
its Environmental Cost

(c) The present generation has no right to deplete (iii) Environment Impact
all the existing forest and leave nothing for the Assessment
next and future generation

(d) Transboundary Movements of Hazardous Wastes (iv) Inter Generational Equity
and their Disposal

Code :

@ (b) (9 (d)
M @ (@) (v) (i)
(2) @) @) (@) @)
@) @) (@) (@Gv) ()
@) @ @) @) (i)

85. Read both Assertion (A) and Reason (R) and give the correct answer by using the code
given below :

Assertion (A) : It is the duty of the state to devise and implement a coherent and
co-ordinated programme to meet its obligation of Sustainable Development.

Reason (R) : Adherence to the principle of Sustainable Development is now a
Constitutional requirement.

Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
3) (A) is correct but (R) is wrong.
4)

4 ) is wrong but (R) is correct.
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86. Which of the following do not come under the powers and functions of the Central Board as
provided Under the Air (Prevention and Control of Pollution) Act, 1981 ?

(1) Planning and execution of National programme for prevention, control and abatement
of Air Pollution.

(2) Co-ordinating activities of State Boards and resolving disputes among them.

(8) Fixing standards of Quality of Air.

(4) Making recommendations to the State government for removal of State Board which is
defaulter in discharging its duties under the Act.

87. In which one of the following case the Supreme Court of India held that right to access to
drinking water is fundamental to life and it is the duty of the State under Act 21 to provide
clean drinking water to its citizens ?

(1) Vellore Citizens Welfare forum Vs Union of India

(2) A.P. Pollution Control Board Vs M.V. Nayadu

(3) M.C. Mehtha Vs Union of India

(4) Karnataka Industrial Area Development Board Vs Shri C. Kenchappa

88. Read both Assertion (A) and Reason (R) and give the correct answer by using the code
given below :

Assertion (A) : The provisions concerning Human Rights run throughout the U.N. Charter
‘like a golden thread’.

Reason (R) : Much of the credit for this goes to the determined lobbying by
non-governmental organisations at San Francisco Conference.

Code :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).

(3) (A) is correct but (R) is wrong.

(4) (A) is wrong but (R) is correct.
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89.

90.

Which of the following statement/statements is/are correct ?

Under its terms of reference, the UN Commission on Human Rights was directed to prepare
recommendations and reports on :

(a) An International Bill on Human Rights.

(b) International Conventions or declarations on civil liberties; the status of woman, freedom
of information and similar other matters.

(c) The protection of Minorities.

(d) The prevention of discrimination on the basis of race, sex, language or religion and
other matters concerning Human Rights.

Code :

(1) Only (a) is correct.

(2) Only (b) and (c) are correct.

(3) Only (a), (b) and (c) are correct.

(4) (@), (b), (c) and (d) all are correct.

Match List - I with List - IT and give the correct answer by using the code given below :

List - I List - II
(a) Human Rights Council (i 1993
(b) The Universal Declaration of Human Rights (i) 2006
(c) The International Covenant on Civil and Political Rights (iii) 1948
(d) World Conference on Human Rights, Vienna (iv) 1966
Code :

@@ (b) () (d)
® @ @ @) G)
() @(v) @) @ @
() @@ @) (@) @

.
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91.

92.

posans ||

Which of the following statement/statements is/are not correct ?

(@)

The position of U.N. High Commissioner for Human Rights was created by the Economic
and Social Council.

The High Commissioner was to be appointed by the Secretary. General subject to
approval by the General Assembly.

The term of office of High Commissioner was five years.

The High Commissioner’s principal location would be in New York.

Code :

Only (d) is not correct.
(@), (c) and (d) all are not correct.
(@), (b) and (c) are not correct.

(@), (b), (c) and (d) all are not correct.

Which of the following statement/statements are correct ?

(a)

(b)

The Chairperson of the National Human Rights Commission shall be who has been the
Chief Justice of Supreme Court.

The Chairperson and the other Members of National Human Rights Commission are
appointed by the President of India after consultation with Prime Minister.

Chairperson and other Members of National Human Rights Commission are eligible
for re-appointment.

The Chairperson and the other Members of the Commission can be removed on the
Recommendation of the Law Minister of India.

Code :

4)

Only (a) is correct.
(@) and (c) are correct.

(@), (b) and (c) are correct.

(a), (b)
Ml

, (c) and (d) all are correct.
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93. Match List - I with List - IT and give the correct answer by using the code given below :
List - I List - II
(Provisions) (Sections of the Protection of
Human Rights Act, 1993)
(a) Constitution of National Human Rights (i)  Section 10
Commission
(b) Constitution of State Human Rights Commission (i) Section 12
(c) Functions of the National Human Rights (iii) Section 3
Commission
(d) Procedure of the Commission (iv) Section 21
Code :
@ ®) © (@
O O @ @) )
(2 @ @) @) @
G (v @O @ (i
4) @) @) @ @
94. Which one of the following is incorrect ?
Under the Partnership Act, a minor who has been admitted to partnership when attains
majority should adhere to the following :
(1) Issue a public notice that he has elected to become or that he has elected not to become
a partner
(2) Option must be exercised within 2 months on attaining majority
(3)  When the minor opted to become a partner his rights and liabilities as a minor continue
upto the date on which he becomes a partner
(4) When the minor opted not to become a partner his rights and liabilities shall continue
upto the date on which he gives a public notice
95. Match List - I with List - IT and select the correct answer using the code given below :
List - I List - II
(a) Mutual Rights and Liabilities of Partners (i)  Section 34 of Partnership Act
(b) Dissolution of Partnership (i) Section 13 of Partnership Act
() Retirement of a Partner (iii) Section 39 of Partnership Act
(d) Insolvency of a Partner (iv) Section 32 of Partnership Act
Code :
@ ®) © (@
O O @ G G
@ @) @) @) 0
(¢ @) @@ @O @)
@ @O @ @) (@iv)
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96. Read Assertion (A) and Reason (R) and give the correct answer with the help of code given

below :

Assertion (A) :

Reason (R) :

Code :

The surety has no right to restrain execution against him until the creditor
exhausted all his remedies against the Principal Debtor.

The Liability of the surety is co-extensive with that of the Principal Debtor,
unless it is otherwise provided by contract.

(1) (A) and (R) are true and (R) is the correct explanation of (A).

)
(2) (A)an
®) (A)i
4 (A)is

d (R) are true but (R) is not the correct explanation of (A).
is false, but (R) is true.

s true but (R) is false.

97. Which one of the following is incorrect ?

Under the Sale of Goods Act, to make the buyer liable for neglecting or refusing delivery of
goods the following conditions must be fulfilled :

(1) The seller was ready and willing to deliver the goods.

2

4
goods.

(2) The seller requested the buyer to take delivery.
(38)  The seller informed the buyer to ignore the delay and take delivery.
(4)

The buyer did not, within a reasonable time after such request take delivery of the

98. Read Assertion (A) and Reason (R) and answer by using code given below :

Assertion (A) :

Reason (R) :

Code :

Under the Company Law, though any outsider is presumed to be aware of
the documents which are publicly accessable, but not the internal
proceedings of which he can not reasonably aware of, because those are
not accessible to the public.

The Doctrine of indoor management evolved as a partial exception to the
Doctrine of Constructive Notice and the rule was laid down in Royal British
Bank Vs Turquand.

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A).

2

4

s [

(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A).
(3) (A) is true but (R) is false.
4)

) is false but (R) is true.
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96. 2AMTRAT (A) T ek (R) T T 31 9 & 73 T2 I Wl W T
AU (A) :  Ffayfd (FRET) H1 30k FGeh FE-ad B o T Hl dodeh SRR T2l

STeaeh foh TGR A g 01 o faers a4t STer wara 7 & <3 7

Tk (R) : gfayfa =1 S ga ol o FafoRiiol §, Sedes foh dfagr # eT=re wee™ 7 3 |

(A) 3R (R) T W B 1R (R), (A) T W& &A@ T |
3R (R) SHT W& €, TR (R), (A) T T e =i )
(A) Terd ¥, fohg (R) Tt €1

(A) W& ¥, fohg (R) Temd T

)
(A)
)
)

97. fy=fafEd § 9 % Ted & ?

AT faska SAfufam, o Siaia ATa o IR i U AU STEhid &g shal Sl SIHER 3eTH &
fera frefafed sid s g 6t S+ =nfee

(1)
(2)
(3)
(4)

forshal TR o1 3IR ATe & UREH &l S5g o |

forshar = RS Wt htd &g shil § ST fohan o

forshe =1 shell <l Yfard foran ot T o forcie o1 ToReiars o aieM el o o |
SRl 7 3aq THF I % TS TH ST Y W o 9= Hiel b1 GREH el e |

98. 2R (A) 31 deh (R) I 9 iR = feU T4 %2 i Te@d § W ST T
afeRem (A): Ty fordt ared =afed & s # =g 7 forn <man € for <@ wrdeife &9 & g™

SEATSST Sl SR B, T ST Hrfamel o ok | 72, feh IR # gfoasa
Y ¥ 3T TEHR & 2 wifen =it 3 wesie ®9 9 g e

& (R) : T=ieh yaeA fagra &1 fmml srafas gem (Fefeea ifew) & stfers

<<

1

)
2)
3)
(4)

3T9aTE o €9 H g7 ¥ iR F1am 1 Aaat fafew o s zaive & sifufeifa €1

(A) 3R (R) <1 9@ § 3R (R), (A) T T =08 7
(A) &R (R) 3 W &, fohg (R), (A) T T = T 2
(A) W& ®, fhg (R) 7o B

(A) e %, fohg (R) T 2
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99. Which one of the following is incorrect ?

Any mis-statement made in the Prospectus would attract the liability of the following persons
under the Companies Act :

(1) Every person who is a director of the company at the time of the issue of the prospectus.

(2) Every person who has authorised himself to be named and is named in the prospectus
either as director or as having agreed to become a director either immediately or after
an interval of time.

(3) Every person who is a promotor of the company.

(4) An Expert, whose consent has not been endorsed to the registration and liable in respect
of every content in the prospectus.

100. Which one of the following is not the essential requirement to fulfil an instrument intended
to be a Promissory Note ?

(1) The instrument must contain a promise to pay.
(2) A mere acknowledgement of indebtedness is sufficient.
(3) The sum of money to be paid must be certain.

(4) Promise to pay must be unconditional.

-00o0-
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99, fy=fafad ¥ 9 %9 e & ?

forercor afsrent (Uisdaed) H fra M forelt o1gs oom 9 weot stfufrad & swia frefafad

Tl Shi <Al BT ?

(1)
(2)

(3)
(4)

forercor afSrent S foRd ST % GHT ST o FoU 6 ®9 H Yoo oAt |

I8 Y Afaa o faaror ufsent # e 9 fevres & &9 § @ &1 wiitgd fhan € 8ik
TehTel 3T97a FS FHIAE TvETd S84 Q91 o4 &t Heafd YeM i ¥ |

Yook Aferd Sl gl Rl H9adeh (THeR) B

whre fasroe fSreent Teafa gsiad § iR ufsent foer & g dey o geaiferd 11 7 |

100. ffafed # 9 ®F fodl o=@ o= (NHEH ) & 991 & Iv™ 7 et fafea &t afem

ST T @ ?

(1) fafEd ¥ 181 & 1 o= B =1ed |
(2) ORI i SRR O TAT ¥

(3) 3Tq1 & S aTelt Tk M= om i 21|
(4) 3TQ1 T & g .30 A

-00o0-
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